
Spin 1/2 - matrix representation

Pauli matrices

Definition

������� MatrixForm[σx = {{0, 1}, {1, 0}}]
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������� MatrixForm[σy = {{0, -I}, {I, 0}}]
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������� MatrixForm[σz = {{1, 0}, {0, -1}}]
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Algebra

������� MatrixPower[σx, 2] // MatrixForm
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1 0
0 1



������� MatrixPower[σy, 2] // MatrixForm
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1 0
0 1



������� MatrixPower[σz, 2] // MatrixForm
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1 0
0 1



������� σx.σy + σy.σx // MatrixForm
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
0 0
0 0



������� σx.σz + σz.σx // MatrixForm
�������������������


0 0
0 0



������� σy.σz + σz.σy // MatrixForm
�������������������


0 0
0 0





�������� σx.σy - I * σz // MatrixForm
��������������������
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0 0
0 0



�������� σz.σx - I * σy // MatrixForm
��������������������


0 0
0 0



�������� σy.σz - I * σx // MatrixForm
��������������������


0 0
0 0



�������� σx.σx // MatrixForm
��������������������


1 0
0 1



�������� σy.σy // MatrixForm
��������������������


1 0
0 1



�������� σz.σz // MatrixForm
��������������������


1 0
0 1



Eigenvalues and normalized eigenvectors

�������� Eigenvalues[σx]

�������� {-1, 1}

�������� Map[Normalize, Eigenvectors[σx]]
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�������� Eigenvalues[σy]

�������� {-1, 1}

�������� Map[Normalize, Eigenvectors[σy]]
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�������� Eigenvalues[σz]

�������� {-1, 1}

�������� Map[Normalize, Eigenvectors[σz]]

�������� {{0, 1}, {1, 0}}

Matrix representation of the spin components for a spin 
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of magnitude ℏ/2
�������� Sx = ℏ  2 * σx; Sy = ℏ  2 * σy; Sz = ℏ  2 * σz;

These matrices verify the algebra of an angular momentum

�������� Sx.Sy - Sy.Sx ⩵ I ℏ Sz

�������� True

�������� Sz.Sx - Sx.Sz ⩵ I ℏ Sy

�������� True

�������� Sy.Sz - Sz.Sy ⩵ I ℏ Sx

�������� True

The general rule Lx2+Ly2+Lz2 = j( j + 1)ℏ2 1 for an angularmomentum jℏ (j=1/2,1,3/2,2,...) becomes here 

Sx2+Sy2+Sz2 = (3 /4)ℏ2 1 :

�������� MatrixPower[Sx, 2] + MatrixPower[Sy, 2] + MatrixPower[Sz, 2] ⩵

3 ℏ^2  4 IdentityMatrix[2]

�������� True
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